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FEEMILEIIELZWIEFH FHIKX (Mechatronics English Cer-
tificate) BEHPERMEFERMAZARM ERIELZIIEHF
R, EHEPERAIS AR, ;

£-W FAED

RGN RFEAKF OLEETLIGEKT) HEHREEY
W E LSBT LA EREN T2, 2F5MERREER
RGNS N ABSEEKF, FH¥F EHREERTRENRES
B #EEEST OLHRTLIE HERERE.

=1 FHANR

AEKHMERTERMAEAH SRS AR, FLHEFERSZ
&, ZBAHHE, B S MAEK.

oY FiEE
LB WIEBEKMTEE, BR—ROEEES RS, &
R UAT R ALIE: ‘
1. kKHL%H, aERE. 8. BR. BEES.
2. KWLAL, BEBRARK. HERL. RERLE.



3. REWLRHE R HEEEMAEMITERL.

4. KILBRSARS, SERERRK. KAXRE. TOLERH RS
LK E

5. KHlL4EfE. ERAMIE.

FEYT HBRES

C HXET UL A RESEEE LN A EES,F
B SR T 1A OB RE

BT BRAFR
FERGR-AER: R, PR

Fth HFiREX
AFREFRYRER, WhH, OR=ERERX., FRERYA
FRLUTER:
— 2K

1. HlEE AR ESF
2. B4 H (Grammatical Structure)
3. FiEFEM (Reading Comprehensibn)
4. $H73 (Fill in the Blanks with the Words Given)
5. #1i¥ (Translation), EHFHTFMHE X ERAHER.
. WA
1. B4 XT1E (Short Conversations)
2. %3 (Short Passages)
. O
1. EI%& @& (Questions and Answers)
2. BiEME X E B (Read a Passage and Answer Ques-
tions According to the Passage)
3. RiE (Talk on a Given topic)
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4. O£ (Interpretation) HL5E 1] ORI TOF
ENY F AR
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invertor (B iies)

I. B4 (Grammatical Structure) : AR Z EpE A
BENHES, B30 MFFEAFMEAEH A, B, C, D WA EIR
W, FATEREERKRELTR. W

1. "™You 've got a bad cold. You'd better to see the
doctor.” '
(A) to go (B) went (C) go (D) gone

2. He was so angry he hit the man in the face.

(A) that (B) when (C) as (D) unless

I. 3% (Fill in the blanks with the words given): &+
M8 A X 2 IR C AN FIRE 7, 1.
overhaul, fugelage, flight, aircraft
1. In the structure, structural design provides alter-
nate load parts.
2. The time needed to inspect and an airliner varies
with its size and complexity.

3. fly along designated areas.

N. [#{E£¥# % (Reading Comprehension) : 75 il i % 4= 4 il
FIESHWFIEREKT, B4 BEXHR, EVEREXHSSE
BEAR. .

Electrics and Electronics

Simple one-or-two-seater planes have a direct current (DC)
system to run the radio and navigation lights;large airliners usually
have other kinds of current on board, suited for specific purposes.

They have over 15, 000 electronic devices, served by systems as
6



complicated as those of a complete city. They generate most of their
electric power as AC (alternating current),the same as a house sup-
ply, by alternators on each engine. For emergency use there are oth-
er generators: a ram air turbine (a windmill spun by the
slipstream), and an auxiliary power unit (APU) which can either
be used in an emergency or on the ground when the engines are not
running. AC is used for all the heavy loads: for anti-icing the air
frame (needing the largest AC supplies) for powering hydraulic
systems, for heating ovens in the galley, for powering radio masts,
toilet and galley drains, and accounts for about half the total pow-
er.
1. According to the passage, the radio and navigation lights in
small-sized planes are run by
(A) direct current (B) a ram air turbine
(C) hydraulic systems (D) alternating current
2. Among the kinds of current used in large airliners, alternat-
ing current supplies about of the total power.
(A) most (B) half (C) little (D) all
3. According to the passage, alternating current is generated
by
(A) a windmill turned by the slipstream
(B) an auxiliary power unit
(C) other generators
(D) alternators on each engine
4. According to the passage, alternating current can be used
for
(A) an emergency (B) running the radio

(C) powering hydraulic systems (D) runing the engines.



5. What is the passage mainly about?
(A) Difference between small-and large-sized airlin-
ers.
“(B) Numerous and complicated electronic devices.
(C) Generation of alternating current.
(D) Supply of power for large airliners in different cir-

cumstances.

V. #i% (Translation): &BHLES ’lﬂg‘ﬂk_ﬁiﬁizﬂﬁﬁ, =R

& E AR . W

1. Great changes have taken place in the aviation industry of
our country since 1949.
1949 & f5, REMMELLAEETEXREK.

2. There are two ailerons on an airplane, one on each wing.
KMAEFABEIR, 58— EREF-1TEIR.

3. A transformer cannot operate on direct current, which

would burn out the wire in the transformer.

BESAEEAERE, HAERESRARTHI R,

i}
Wr i A AR E A SR T L E .
F—F,42 (PART ONE)
fAi Xt 1E (Short Conversations)
AEA 15 BRIFEEMIEM & BRER A, B, C, D WA
BEBTE R B
EhEFRHE ERSIRESE.
o '
Question; How many hours will the plane fly?
(A) three hours (B) five hours



(C) seven hours (D) nine hours
(FEEHEL: MAN: Our plane takes off at 8 : 00 a. m.
WOMAN: We'll not get to our destination until 11 : 00 in
the morning. )

¥4 (PART TWO)

A% L E (Short Passages)

A E 2 BIGEE L, HECH 10 7RIS, BAEBER A,
B, C. D DU #EIH, CIEH 8, [F8 RER—E.

FEFTRE ERBRETR.

iifp

Q1. How did the speaker go to Paris? -

(A) By sea (B) By land (C) By plane (D) By bus

Q2. How long did the journey last?

(A) A short time (B) Half a day

(C) A long time (D) Quite a few hours

Q3. How was the landing?

(A) uncomfortable (B) Peaceful (C) Disturbing (D) Exciting

(GFEJEL: A few days ago I myself had to go to Paris. The
journey was urgent and I went by air. I went to the airport by a
special bus provided by the company. On the airfield we saw a large
plane waiting for us. We climbed into it, and at exactly twelve
o’ clock it took off. Very soon we reached the sea and shortly af-
terwards we saw the French coast. It wasn't long before we arrived
at our destination. Our pilot made a perfect landing, and we got out

of the plane. )

=. ik
WMH DR (INTERVIEW) BEZA S FEH £ M 2 [BH#HTH —FF
B XMIEDN.



AEFREREREEY LT, EHURERIETREET.
(5. of = 0 S 115 ¢ 1) P

$—%4 (PART ONE)

[E] 25 [a) B (Questions and Answers)

A ILE 5 ANEE, FAETARE TR EBAE & 8 E A

an .

1. What's the weather like today?

2. What type of plane do you maintain in your company?

$E=#H45 (PART TWO)

BAiE 48 SCF [A1 & W] 1 (Read a passage and answer questions
based on the passage)

FELUGEREENE, B 1 BREXHETRIBAR, ZEES
2~3 5%, RIEBAERME I EIE R,

m.

How Old Is She?

A woman was having some trouble with her heart, so she went
to see the doctor. He was a new doctor, and did not know her, so
he first asked some questions, and one of them was,”How old are
you?”

"Well,"she answered,”I don’t remember, doctor, but I will try
to think. She thought for a minute and then said,"Yes, I remember
now, doctor! When I married, I was eighteen years old, and my
husband was thirty. Now my husband is sixty,I know. And that is
twice thirty. So I am twice eighteen. That is thirty-six, isn’t it?”

Q1: Where did the story take place?

Q2: Did the woman tell the doctor her age immediately? Why

not?

Q3: Did she really forget her age? Why didn’t she tell the doc-
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tor her age in a direct way?

F=F $HAEN

FE)
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EHINEER, #TRAMZI RS LIEESRENBFFIIT
15, FelEAEEIIRHA.

MEEWIEERFIINFERERAMEI R REWERRA
THEEIE, BEFFTUHITE, BERSKFARE, ATER
5 ER RN, BRTROANS . ERNFEERFNERE R,
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(=) BAEEFMERAEEKE: (O ARRAHHIELLF
M —BRELZ W XEYRES; (=) ARBMN T LIEHIFES;
(W F—EMUr. weEH; () EREBFINE, AREHEE
K, BT RAIWT T B R .

Z.ENWNNERAFELX

FERAMZFIN R RERAME BV ETIMERR T, B
RALERMERRATRBEKFRAEERMRIREZL, RHFE (&
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Y

(1) B 500~1 000 #y# AAIC &, Hd 300 N E A GE
HRTEHER,

(2) MPEFEEMRE—EMN T #.
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(3) B B A P2 A

L

(1) FRRYEER 1 200~1 600 ML FSF, Hd 600 4ME
AEXRFEREAEER.

(2) EREAMBEMIR (REPE, PLEERZMEERA
129

Q) REMEAS TRPRERNBEENEY, BERESIER.
9, BINAERELR.

YL Tl FEE B A EEEMIEM L L IER RS, o
VIR P RFEFEE, EMIEERN L LIEERSSHEEHENN
AMEK,

MY

g

1. FRFFEEAR 1 600 MEABIF (WAL, K 600 M4
AEAFREAEERE.

2. FEEFMEEMN, MEE, BE, BEEEX. @R
ME &A%,

3. EEREAMNEHAE, EWREMR —MERMNIUE, [
HEIAE 60wpm, BBREHENET 70%.

4. FREARUTHEE, MEHRER, EEH 100wpm #UTH
e, EBERERKT 70%.

5. #EEH EMA, REHITHHM H ¥ X EM LIEXME.

6. REKF—MLFR B W L SOA EHE RIS, IR CEAER .

T HIE

FWLEEFEUFEMBEIERNE, NEFTEIE:

1. KWL

2. KWLEG

3. REWEE K TIERS
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